

for all integers m . By means of (6) and (7), we obtain that for all integers m, n :

$$f(2^n 3^m) = (2^n 3^m)^2 f(1). \quad (8)$$

By our previous lemma any real numbers in $[0, \infty)$ may be approximated by a sequence in the set $\{2^n 3^m | n, m \text{ integers}\}$ so from (8) and the continuity of f we can conclude that for all x in \mathbb{R}^+ , $f(x) = kx^2$, with $k = f(1) > 0$ an arbitrary constant. ■

Acknowledgment. The authors thank the referees for their helpful remarks and suggestions which improved the final presentation of this paper.

REFERENCES

1. G. Candido, A Relationship Between the Fourth Powers of the Terms of the Fibonacci Series. *Scripta Mathematica* 17:3–4 (1951) 230.
2. S. Lang, *Introduction to Transcendental Numbers*, Addison-Wesley, Reading, 1966.
3. R. B. Nelsen, *Proof Without Words: Candido's Identity*, this MAGAZINE, **78** No. 2 (2005) 131.
4. I. Niven, *Irrational Numbers*, Carus. Math. Mono. 11, MAA, Wiley, New York, 1956.

Monotonic Convergence to e via the Arithmetic-Geometric Mean

JÓZSEF SÁNDOR

Department of Mathematics and Computer Sciences
Babeş-Bolyai University
Str. Kogălniceanu Nr.1
400084 Cluj-Napoca, Romania
jjsandor@hotmail.com

Recently, Hansheng Yang and Heng Yang [3], by using only the arithmetic-geometric inequality, have proved the monotonicity of the sequences (x_n) , (y_n) , related to the number e :

$$x_n = \left(1 + \frac{1}{n}\right)^n, \quad y_n = \left(1 + \frac{1}{n}\right)^{n+1} \quad (n = 1, 2, \dots)$$

Such a method probably is an old one and has been applied e.g. in [1], or [2].

We want to show that the above monotonicities can be proved much easier than in [3].

Recall that the arithmetic-geometric inequality says that for $a_1, \dots, a_k > 0$, and

$$G_k = G_k(a_1, \dots, a_k) = \sqrt[k]{a_1 \dots a_k},$$

$$A_k = A_k(a_1, \dots, a_k) = \frac{a_1 + \dots + a_k}{k},$$

we have

$$G_k \leq A_k, \quad (1)$$

with equality only when all a_i are equal.

Let $k = n + 1$, $a_1 = 1$, and $a_2 = a_3 = \dots = a_{n+1} = 1 + \frac{1}{n}$. Then

$$G_{n+1} = \left(1 + \frac{1}{n}\right)^{n/n+1} \quad \text{and} \quad A_{n+1} = 1 + \frac{1}{n+1},$$

and raising both sides to the $n + 1$ power gives

$$x_n < x_{n+1}. \quad (2)$$

For $k = n + 2$, $a_1 = 1$, and $a_2 = a_3 = \dots = a_{n+2} = 1 - \frac{1}{n+1}$, we have

$$G_{n+2} = \left(1 - \frac{1}{n+1}\right)^{n+1/n+2} \quad \text{and} \quad A_{n+2} = \frac{n+1}{n+2}.$$

Raising both sides to the $n + 2$ power and taking reciprocals gives

$$y_{n+1} < y_n. \quad (3)$$

Clearly $y_n - x_n = x_n \cdot \frac{1}{n} > 0$, so $x_n < x_{n+1} < y_{n+1} < y_n < \dots < y_1 = 4$ for $n > 1$, thus the sequences (x_n) , (y_n) are convergent, having the same limit (denoted by e). Clearly, $x_n < e < y_n$, so (2) and (3) give

$$x_n < x_{n+1} < e < y_{n+1} < y_n. \quad (4)$$

REFERENCES

1. A. Lupaş, On the Number e (Romanian), *Gazeta Mat., Seria B* **23**(7) (1972) 393–396.
2. J. Sándor, On Bernoulli's Inequality, *Octagon Math. Mag.* **3**(1) (1995) 34–35.
3. H. Yang and H. Yang, The Arithmetic-Geometric Mean Inequality and the Constant e , this MAGAZINE **74** (2001) 321–323.